OREAHEEDH I BEONRILEMEREEGHER
3. EHEIE (NR¥ERE - ENRERE - RE - BEHWEF) HOKF (KOR)
£3-2 #ERFRT

1/ 17R=3)
HRYE HEH & (kg/ 5 ; 47 1149V $RIdmg-TEQ/ ) MR L
A= (EEHE)
vE ML RiguE &t R
= Eg 3%?%%$¥¥%§%’8 B BB A NSt (5£5HE) HHE HEH &
1[EERDKABMEIED 5684 5684 2714 8398 32% 68%
279 )ILTFT IR 0 0 0 0 0% 100%
7o) IILEET FIL 7 162 7 176 67 242 28% 72%
A7V VIVBBR T ZDKAME 8 8 1 10 14% 86%
5|7 )IEE2 — (UAFIVFI)) TFIL 162 7 169 169 - -
6l7ZVIEE2 —E ROFPTFIL 0 0 0 - -
N7 o )IEE = —TFIL 15 15 1 17 7% 93%
8|7V )ILERXFIL 0 162 7 169 210 379 55% 45%
7o yo=kKY )L 0 77 77 77 - -
0|l7roL4>v 38 249 3105 3393 21 3414 1% 99%
17 F MY oL 0 0 0 - -
2|7 M 7ITER 2173 193 1370 19513 23249 898 24147 4% 96%
Bl7Ebrb=bYIL 76 76 2297 2373 97% 3%
162, 2" —FPYVERAYVTFO=MYJ 0 0 0 - -
18l7=1) v 0 0 1 1 94% 6%
2012—73I/)T5)—) 12900 58405 71305 4074 75379 5% 95%
2|5—73/—-1-—[2, 6—ys0O0-4— (b 44 0 44 0 44 0% 100%
YA XFIV) 72z=)0V] —3—->TF7/)—4
— [ (KNYZNAQXAFI) AT 1ZIV] ES
V=L (BI%7470Z)0)
28|7 Y7 a—) 75 75 - -
|EHETILFIRVEVRILKRVBEROZEDIE (7 10506 8092 72797 91395 0 91395 0% 100%
WEIEDOREHNT1ODS14ETOEDRY
TDEREMICR D, )
NNTZUVFEVRUVZDILEY 144 144 536 680 79% 21%
R|7TVESEY 0 0 0 - -
33| e 0 0 - -
M|B—AVYYTFIAFIL—-3, 5, 5—KYXF 0 0 0 0 0% 100%
o oanEv =AY TE—h
BIAYTFILTILTER 440 440 - -
HEHREE : SM03EE




OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHEIR (WRFE - IFNREE - RE - BEEK) HOKF (K2R)
R3I—2 FWEFEH

(2 / 1IR=%)
HRYE BEH & (kg/5E; 9" 144y V48 Idmg-TEQ/ ) =45 d
BHAHEHE (#EHE)

18 ML RiguE &t R
5 gfégg 3%9%%%%@; . BENE N (55HE) HHE =
BlAVITLY 2170 2170 2 2172 0% 100%
3714, 4 —4qv7OEYFr7z/—) (B4 1 1 0 1 0% 100%

E27x/—JLA)
W1y FoEL=2— (4—ArFPETT=ZIL— 60 60 60 - -
%—1&)tﬁ5§/$»7—#(%%871#
M3 —qAvVTaRFT—2—-KNYT7)LAOaxXFIL 641 641 641 - -
RYZXT7ZYR BILZILESZIV)
R2—AIFIIVIVFAY 1 1 1 - -
U4 LRVZDIEEY 0 0 0 0 0% 100%
46|TFI=2—-[4— (6—70O00—-2—F/F% 7 7 7 - -

Dz)A*xy) 72z/%>] a4t +—b (B
ZxHOky TTFI)

4710 —TFI=0— (6—=hO—AF—FrYJ) 133 133 0 133 0% 100%
=tHVYY)—TFIKRRAKILTIRFAT—h
(Bl T4 IHRR)

BIO—IFI=0—-4—=bO7z=)b=T7x=)l 837 837 - -
KRR/ FAT7—F (BIZBEPN)

IN— (1 —TF)LFOEL) —2, 6—-Y=h0O 287 287 287 - -
=3, 4—=F2YTY REARYTAXI) V)
5112 — T FIIAXHUEE 33 33 33 - -
BR2|ITFI= (Z) —3— (N—RVI)J—-N-— { [ 280 280 280 - -
AFN (1 =AFLFAIFUFVTI /A
AIWKR=ZI) PR/] F4Y 72/) FOoErF
-~ (BIET7S=HILT)
B3|l TFILARVEY 40527 41934 5822 46866 135149 170567 305716 56% 44%
B4|0—ITFIN=S—1—4F)FOEL= (2—F 230 230 230 - -
¥Y—3-—FFYYIZIL) KRKSFAT—F
(AIBEHRRFT7HE—I)
56|TFLAFTR 472 472 1300 1772 73% 27%
S7|lTFL v )a—ILE/ITFIIT—FTI 533 0 0 533 533 - -
88|TFL ) A—ILE/XFIIT—FI 28 28 28 - -
NTFLYIOTIV 0 0 0 0 0% 100%

BRHFE : SH03FE



OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHEIR (WRFE - IFNREE - RE - BEEK) HOKF (K2R)

£3-2 #ERFRT

3/ 1IR=%)
HRYE BEH & (kg/5E; 9" 144y V48 Idmg-TEQ/ ) =45 d
BHAHEHE (#EHE)

18 ML RiguE &t R
5 gfégg 3%9%%%%@; . BENE N (55HE) HHE =
Ol TFL vIT I v OERES 30 24 55 55 - -
61IN, N’ —IFLYER (YFFHINIVE) 50 50 50 - -

VAV (plETVFRT)
62N, N’ —IFLYER (YFFAINIVEE) 8478 8478 8478 - -

TYHVEN, NN —IFLYER (YFAAL

NI V) EmIROFELEEY BlEvraE€TE

< vt 7)
63[1, 1" —TFLv—2, 2’ —EEYT=9LA 651 651 651 - -

=U7JO3IN (BT IT7 I TOIRXIIYY

7y )
64|12— (4—T hF>7x=)l) —2—XF)N7O 531 37 568 568 - -

EL=3—-Tx/FoRvI)IT—FI) BIELT

Nz 7AvIR)
5|z ook RY v 0 0 0 0 0% 100%
%;,Z—Iﬁ#vjumy(%%ﬁmfuevy 0 0 0 - -
NI AV F U REFRIE BIBRIIAXAIFVBI 10 0 10 10 - -

ALRBERERVITAIF VB 1 b2 RERE

DEEY)
1 |1E1b 55 — 8% 0 0 16 16 98% 2%
BV =945 =) 0 0 0 - -
TANRZ=F o FILT7 /=)L 0 0 0 - -
BARITLRVCZDIEEY 104 104 142 246 58% 42%
B4 7vary—h7a85949 A 0 0 0 - -
K B 52491 128128 6638 176303 363560 275647 639206 43% 57%
e P 0 0 1 1 100% 0%
B2IR RV Z DKBMILEY 34 34 226 260 87% 13%
83| X 518 817 1335 1769 3104 57% 43%
84|17 ) xH—JL 0 0 0 - -
85|17 I FILTITER 14 14 14 - -
86|77 L YV—I 2 20 51 73 370 443 83% 17%
87|17 O LRUV=MY O LEEY 215 0 215 256 471 54% 46%

HEHEE : SM03EE




OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHEIR (WRFE - IFNREE - RE - BEEK) HOKF (K2R)

x3—2 HWERRH

(4 / 1IR=%)
HRYE BEH & (kg/5E; 9" 144y V48 Idmg-TEQ/ ) Bt
BEEAH = (HEEHE)

18 ML RiguE &t R
5 gﬁégg 3g?§§§ . BENE N (55HE) HHE =
88|75 O LEEW 1 1 172 174 99% 1%
9112— (4—/OA-6-IFLFI/—1, 3, 50 50 50 - -

5—-NYTPIU=2—4J)L) PI/)—=2—-XAFI
JOaEd/=rYJI BIESTHIV)
R4—-700-3—IFI—1—XFJL—-N- [4 120 120 120 - -
— (XS RKYIILAFFY) RUTL] ESY—IL—
5—HIAKRFHIR BIZMLIZVESR)
UlryooxzFL v (AlLEEE=ZIL) 1 1 1 - -
95|13 — OO0 —N— (3—4/O@A—-5—-kY )% 161 14 175 175 - -
OXFIL—2—-EUYII) —=TIT7, PILIT7
, ZIL77z—=RKNYo)lA4AO—-2, 6—-=hkO-—
INS=NMILAP Y RIRTZIVTIF L)
9%|1— ({2—-[2-yB0-4—- (4-5007 30 0 30 30 - -
I/¢/)7I_»]—4 AF—1, 3=
FTEYSY—2— 4»}X%»)—1H71 2
LA RNY Y= BEZS T aFT—))
98|~ O O EFEs 0 0 _ _
100|12—s00—-2" , 6 —YIFI—N— (2— 485 485 485 - -
TARFIIFI) FEARTZUR BIETLF
S4-0—)L)
1012—so00—-2" , 6" —=YITFIL—N— (£} 1306 1306 1306 - -
T>x%»)7th7:UF(%%737u—»
1031 —2oO—1, 1=Y7)40x4%> (BI&H 588 252 2108 2948 2948 - -
CFC—142hb)

104|700 7)40Xx%> (IELHCFEFC—22) 2785 9303 1047 13135 0 13135 0% 100%

108 (RS) —2— (4—sO@—FI~—=KYIF 313 313 313 - -
*v) JOoEFVEE (BlExa70v )

M3l2—so0—-4, 6—EXR (ZTFILFTI/) —1 16 16 - -

33,5—hU79y(%%979y2u0AT

114 (RS) —2—[2— (3—OO07z=J)l) — 28 28 28 - -

2,3 TR¥>FOENL] —2—IFNLAVHY
=1, 3=Y#%Y QA4 I/ T77)
HEHEE : SM03EE




OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHEIR (WRFE - IFNREE - RE - BEEK) HOKF (K2R)

x3—2 HWERRH

5/ 1IR=)
HRYE BEH & (kg/5E; 9" 144y V48 Idmg-TEQ/ ) =45 d
BHAHEHE (#EHE)

18 ML RiguE &t R
5 gﬁégg 3g?§§§ . BENE N (55HE) HHE =
1154 — (2—sO0Q7zx=)l) —N=>2O~FY 401 401 401 - -

IW=N—-IFJ—4, 5-YERO-5-—FFV
—1TH-FrSY—IL—1—HIKRFHIK (B
ZI7TVRSHINR)
117l (RS) —1—=/15—sO0A7zx=)L—4, 4— 298 298 298 - -
IAFI—3— (1H=-1, 2, 4= YFTYI—
W—1=AWAFI)) RvE > =3 —F—) (5l
2573+ —))
1241 — (2—2oO~RyoI) —3— (1 —=4AFIL 18 18 18 - -
;1—71:»1%»)7v7(%%75»uy

125l opRy ¥y 327 98 425 1362 1787 76% 24%

WGOFD&>97ijIQD(%%CFC—11 8 8 8 - -
5

127|7 oOokIL A 335 120 645 1100 0 1100 0% 100%
128y 00O x4 v (B&EIEXFIV) 0 0 - -
132|381 M RUOZDIEEY 82 0 0 82 0 82 0% 100%
1332 —ThFoxFIL (BIETFL YY) a— 477 477 40 517 8% 92%

WNE/JIFINI—FTITFET—N)

134|FFfR E =L 174 142 11 326 4025 4350 93% 7%
137|>7+ 3 K 20 20 20 - -
139 (S) =PI T77—YTF)—=3—Jx/)FIRY 3 4 7 7 - -

JI= (1R, 38) =2, 2—=IAFJ—3—
(1, 2, 2, 2—=Fh>78FEITFI) >0
)7°|:|/\/j3)lu'J'\=\=/7 M (B rSOX K>
140l (RS) =PI T77—>T7/)—3—-7x/FIR 40 2 42 0 42 0% 100%
vIN=2, 2, 3, 3—FrhSXFLIHIOTS
nyt»ﬁ#vi N (BIg7z>7O/shYy
v
M SV R—1— (2=2F7/)—2—XARMNEI 43 132 132 132 - -
/7?%»)—3—1%»vb7(%%>%#ﬂ
=)
M4$%977%ﬁ%(%ﬁ&0977%ﬁ%%(° 13 99 112 838 950 88% 12%
HEHEE : SM03EE




OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHEIR (WRFE - IFNREE - RE - BEEK) HOKF (K2R)

x3—2 HWERRH

6/ 17R=%)
HRYE BEH & (kg/5E; 9" 144y V48 Idmg-TEQ/ ) =45 d
BHAHEHE (#EHE)

18 ML RiguE &t R
; BN M| ose | omee | oaw | O R
147IN, N=SITFIFAHILNIVES—4 -0 105 105 - -

D;f9»(%%??Nwa7XH&>?iﬁ
148N, N—=YITFIL—3— (2, 4, 6 =K XAF 128 128 128 - -
W7 Z)VR)VIR=Z)) —1TH—=1, 2, 4—F
D7V —=Ib—1—AIKRFHIR BEHTY
2 kO—Jl)
149|miE1b ik 3= 0 0 15 15 100% 0%
1501, 4—oF*%4> 212 212 155 367 42% 58%
1511, 3—YAXYSY 0 0 - -
1521, 3—=YAINESAILFA—2— (N, N=% 919 919 919 - -
AFINTI)) —7anRY (BIEANLS Y F)
183l 7anxy—1—Tv—1, 2—JHILKRFY 9 342 352 352 - -
AT RXFI= (1RS) —/1 kS R=2
, 2= AFIN—=-3— (2—XF)TO/N=1—
I=JL) vyoaFanvalREsS—h (Blg
ThSANY V)
154 7anxo )P IV 0 0 - -
155|N— (27 a~EoIFH) 7943 R 3 3 3 - -
15711, 2—<son0xd > 22 22 521 543 96% 4%
1%;,1—§7uu1%by(%%ﬁme:u?y 161 161 - -
159> 2—1, 2—</O0TFL Y 211 211 - -
16170 Y7)LAB X4y (AZCFC—12) 1253 280 1977 876 4386 4386 - -
162|13, 5—vs0B—N— (1, 1 =Y AF)—2 216 216 216 - -
;TDE:»)NVXTSF(%%juﬁﬁEP
1642, 2—v O —1, 1, 1—RKY7)L4+0Ox 358 358 236 594 40% 60%
4> (IZEBHCFEFC—123)
168|3— (3, 5—<sop7z=)l) —N—a4VY 7 270 270 270 - -
AEL—2, 4-IAXVYAIFY IV -1—
HWIVEREH IR (Bl 7Oov4y)
16913 — (3, 4—<vpon7z=)L) —1, 1= 0 210 210 210 - -
XFIEE (BlE&YyarXiEDCMU)
HEHEE : SM03EE




OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHEIR (WRFE - IFNREE - RE - BEEK) HOKF (K2R)

£3-2 #ERFRT

(7 /17_=Y)

HRYE BEH & (kg/5E; 9" 144y V48 Idmg-TEQ/ ) =45 d
BHAHEHE (#EHE)
18 ML RiguE &t R
= PREEE | RIRAEE R BRIk NG e = =
1711 (2RSS, 4RS) —1—[2—- (2, 4= 142 142 142 - -
ogo7z=Jl) —4—-7O0ENL—-1, 3—-4F
YSY—=2—=AAFIN] —1H=1, 2, 4—
FNYZ7Y—ILERU (2RS, 4SR) —1—[2
— (2, 4—-yoO7zz=)V) —4—-7OFE)L
=1, 3=UFFVYSIU-2—-A)LAFI] =1
H=1, 2, 4= N)7YV—-ILDREY (Bl&T
oEa3+v—JL)
172|3— [1— (3, 5—=ysO@7z=JL) —1— 194 194 194 - -
AFIITFIL] —3, 44—k RO—6—XFI
—5—-71=JL—2H—-1, 3-FFHI -4
-4V (BIEAFHTIOXKY)
17413 — (3, 4—<sO07zxz=)L) —1—Xk#* 760 760 760 - -
=1 —XFIRHE B&)=20V)
175|2, 4—<vson07x/ o8 (Bl&2, 4— 684 684 684 - -
DXix2, 4—PA)
176[1, 1—<s00—1—-7)40xT% Y (BILH 3075 614 5135 8823 0 8823 0% 100%
CFC—141b)
178{1, 2—=vson7 /sy 205 205 205 - -
179]11, 3—<vson7 ARy (B&D—D) 46768 46768 10 46778 0% 100%
181l rsoaRy Y 507 214 51851 52572 52572 - -
18212 - [4— (2, 4—=yyaORyYq)) —1 20 20 20 - -
, 3=YUAFI—-5-ESVYLLFI] L
72/ (AERESVXITTV)
183|4 — (2, 4—yyoARvYJAIl) —1, 3— 1136 1136 1136 - -
IXAFIN=5-EFVY)=4—-NLIVRIK
+—k (BIEESYL—1)
184(2, 6—=vsoaRyY MY (BT 7ER 101 101 101 - -
) XIZDBN)
m5yggufy&7wiu7umy(%%HCFC 78 78 78 - -
— 5
186> 0O x4y (FIREIEAFLY) 11162 11162 41535 52697 79% 21%
18712, 3= 7 /)—1, 4=SFF7FPVRSX) 588 588 588 - -
v (EIFT V)
188N, N—U s oanFIINT IV 0 0 - -
HEHEE : SM03EE




OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHEIR (WRFE - IFNREE - RE - BEEK) HOKF (K2R)

x3—2 HWERRH

(8 / 17R—%)
HRYE B8 (ka/5E; 4" 1449V 48 1Emg-TEQ/ ) MR L
FBHEABEHE (HEHE)

18 ML RiguE &t R
= g%igg 3%?%%$¥¥E%’é REE BEN A NE (5£5HE) HHE HEH &
19| saRveyT Ty 0 0 2 2 100% 0%
19101, 3=YFFSv—2—gqyYFrvavis4 740 740 740 - -

vZ7oEl R4V TaF45Y)
195|F A YABO—2, 4—2-O0O7z=)L—0 173 7 180 180 - -
—IF)I—-S—7OEIL (BEZTOFFKRR)
197 FA Y ABEO, O—SAFI—S—1, 2—F 210 210 210 - -
2 (ZRFTALRZIL) TFI (BlE<TITY Y
XIFXSFA V)
198|CF A Y ABEO, O—UAFI—S— [ (N— 0 0 - -
)aHl/jJ)wf%wb) AFIV] BIETAMI—hK
200 = kO kLT 0 0 - -
2012, 4a—y=ftOvz/—) 0 0 - -
22| EZ IRV EY 74 74 - -
203U T =TIy 0 0 0 0 0% 100%
205[1, 3—7x=)VFF7= 0 0 0 - -
m7ﬁ,6—§—9—9vu—7%»—4—7v9— 2 20 17 39 0 39 0% 100%
208|2, 4=V =9 —v)=TF)T7x/—) 9 9 - -
209 JoEZ/OAX Yy 67 30 154 250 250 - -
210|2, 2= 7JOE—2—-YF)FPELFPIR 660 660 - -
212 (RS) —0, S=YAFI=FEFIKRIKIL 457 108 565 565 - -
FIRFAT7—HK BIE7EZ7T—1b)
213IN, N=SXFIFPERFIR 141 7 148 0 148 0% 100%
215[2, 6 =S XFIF=Y v 0 0 - -
216|N, N=S X F)IF7=Y v 0 0 0 - -
217|6 =S AxFIF72/—1, 2, 3= YF7Y ( 250 250 250 - -
NEF A IS5 L)
18| X FIT IV 1 1 0 1 0% 100%
19| X FIVT R T 4 K 0 0 - -
HEHEE : SF03EE




OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHEIR (WRFE - IFNREE - RE - BEEK) HOKF (K2R)

x3—2 HWERRH

9/ 17IR=%)
HRYE HEH B (ka/ & ;5" 1449V 4HIEmg-TEQ/ ) Bt
BEEAH = (HEEHE)

18 W L RiguE st R
; EREE | MM | e | mwe | aw | W e
22112, 2—=YXAF)—2, 3=YkRO-1-—RY 350 350 350 - -

V75 —T7—4)=N— [N— (2—T hF>
AIKRZIITFI) —N—A4YFAOEILRILT T
FEAN] —N—XFJLAINRT—F (BlE~RY
75hIVT)
224N, N=SXFIRFUNTIV=N—FFI R 137 1130 12280 13548 13548 - -
25| X F)=2, 2, 2—KYysOoOo—-1—-k kRO 8 8 8 - -
FOIFIKRRABRFT—F (BI& RN 78ILEFVX
I£DEP)
22711, 17 = XxAFI—4, 4’ —EEYI =LA 465 465 465 - -
=yo0) F (BIEARZ3—MXR@F/ARZa-FY
ZA=DRD)
29|V AFI=4, 4" — (FNb=—Dz=LV) E 1186 1186 1186 - -
2 (3=FA7A77F+—b) RBIEFAT 7R
— K XFJL)
232N, N=SXFILRIVLT IR 7283 7283 26 7308 0% 100%
2332 — [ (PANFURRT 4 ) FFAIN) F7] 254 254 254 - -
—2—-7IZVEFBIFIL BIE7TvhI—h
XIZPAP)
234|2% 0 0 0 - -
235 | R RO KBNS 0 0 0 - -
2363, 5—YI3—R—4—FI5 /AN FFIRY 60 60 60 - -
VMY (BIRATAFFI=I)
237|KBRVZDILEY 22 22 4 26 16% 84%
239|512 L& 2 2 2 - -
240|2F L v 1332 416 0 11642 13389 45875 59264 77% 23%
2212 L Y RUZDILEY 13 13 357 370 96% 4%
283|5A1 F £ 180. 1683054 88.202134| 0.257172067| 9.343105825| 277.9707173 2743.571993284 3021'542710284 91% 9%
7 7
28412 —FFFY -3, 5— /X%»?Fithu— 33582 33582 33582 - -
Ey—1 3, 6—F7S7 (BB A
245|F 7 FRF& 0 0 0 0 0% 100%
HEHEE : $F03EE




OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHEIR (WRFE - IFNREE - RE - BEEK) HOKF (K2R)

x3—2 HWERRH

10 / 17R—=Y)

NRME HEE (kg/ ;8 1149 V8R I3mg-TEQ/ 5F) RERLL
[ S e B (HERT )
18 ML RiguE &t R
5 gﬁégg 3g?§§§ . BENE N (55HE) HHE =
248|F 4 Y ABRO, O—YIFIN—0— (2-4V S 1956 1956 1956 - -
AEL—6—XFIL—4—-EYIYZ)L) (Bl%
FATI I V)
249|174 Y ABRO, O—YIFIL—-0— (3, 5, 6 118 118 118 - -
ShJyOoo-2-BUYL) (REZOLEY
£2R)
250|F 4 Y ABEO, O—YTFIL—-0— (6—7x= 54 54 54 - -
»;3—4v###7u»)(%%4v##%#
v
251[F4YABEO, O—YXFIL—0— (3=XFJ 1139 69 1208 0 1208 0% 100%
—4——-tO7zz)b) (RIBZ7z=bAFFY
XIEFME P)
252|F A Y ABEO, O—UXFIL—0— (3=XFJ 59 8 68 68 - -
—4—XFLFFTIZ)V) BIETIVFAY
XIEMP P)
257 HTAEY I =NI—FTI 0 0 0 - -
25675 VR 1 0 1 1 - -
257|F N TII— (BI&TH /=)L) 5733 0 5733 5733 - -
258(1, 3, 5, 7T=FrS7H¥rU>sn0 [3. 3 1 320 321 8 329 3% 97%
1.1 (3, 7)1 FhY (HBEAFHAFL
Y7 h53Y)
9FRSTFAFISLYZRILT 4R (BIBY R 2 2 120 122 99% 1%
2455)
26017 h>voAq4v7sO0=r)JL (Bl&rOA% 677 181 858 858 - -
H=)LXiFTPN)
261|14, 5, 6, 7=Fh5/O04YRYYISY 1437 1437 1437 - -
—1 (BH) =Y (BI&IH A K)
262|7 hSoO0ATFLY 1325 1325 13553 14878 91% 9%
266(2, 3, 5, 6—FT hZ7)FAO—4 =X FILA 33 33 33 - -
vIN= (Z) =3—- (2-4-0B-3, 3, 3
— kU740 -1-70XR=)) -2, 2-Y
AFNonF7anNvALRFSS—F (BIET
by )
268[F R SAXFIFISLYZILT 4R (BEFVS 2 750 752 32 784 4% 96%
LXIEFF L)
BEHFE : FHI03ER




OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHEIR (WRFE - IFNREE - RE - BEEK) HOKF (K2R)

£3-2 #ERFRT

1/ 17IR=)

HRYE HEH & (kg/ 5 ; 47 1149V $RIdmg-TEQ/ ) R L
A= (EEHE)

18 ML RiguE &t R
= g%igg #%:%;%%E%? REE BEA NE (5£5HE) HHE HEH &
2710|57L 7 % JLER 0 0 0 - -
272|AKAMIE (FEEER< ) 379 379 1569 1948 81% 19%
273 ;I—)t)%‘j: J—IL (Bl /IL=IL—RTFVILTIL 0 11 12 12 - -
2I5| R FYIVHREE T R Y D A 3053 1173 26111 30337 30337 - -
276(3, 6, 9—NYTHIVFHAY—-1, 11-=- 4 4 0 4 0% 100%

7V BIETISIFLIYIRVIZIY)
7|N) T FIT IV 88 88 229 317 72% 28%
28N TFLVF ARSIV 8 8 0 8 1% 99%
279(1, 1, 1= NYsooxTHd>v 397 397 - -
280(1, 1, 2—NYsvopoxTHd > 32 32 - -
21|k soOTFL Y 2797 2797 26 2823 1% 99%
282| b Y o O OFFER 3 3 3 - -
25|k sOoO=-bhOXy Y (oS Y V) 77850 77850 77850 - -
2861 (3, 5, 6—kYyrOm—2—-FYII) #% 23 335 358 358 - -

EEEE (Bl Y2 OEIL)
288|N) ooz AOXSY Y (BIRCFC—11) 2284 528 4415 7227 7227 - -
28|7NT v, PIVIw, PLIr—NY)JlbAO— 2097 2097 2097 - -

2, 6—=Y=—hO—-N, N=o7OE)L—/1R5—

MLA42Yy (BlabhYZIL31) V)
296[1, 2, 4=RNYXFIRVEY 16885 756 171 21676 39488 33329 72817 46% 54%
207{1, 3, 5=RNYXFIRVEY 5456 9926 757 15120 31258 21051 52309 40% 60%
28| R Y LY VAV TR—b 2 2 0 2 0% 100%
29[ MILA v 0 0 0 - -
300{ LTV 85218 49135 7335 296888 438577 448269 886846 51% 49%
302|ro5 LYV 882 168 568 239 1858 1129 2987 38% 62%
304|848 0 0 0 0 0% 100%
305[8R1b & 491 491 615 1105 56% 44%
306|=F I UIEBBAFHXFL Y 0 0 0 0 0% 100%
308|=wv 4L 0 0 1 1 96% 4%

HEHREE : SM03EE




OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHEIR (WRFE - IFNREE - RE - BEEK) HOKF (K2R)

x3—2 HWERRH

(12 / 17IR—=Y)

HRYE HEH & (kg/ 5 ; 47 1149V $RIdmg-TEQ/ ) MR L
FBHEABEHE (HEHE)

18 ML RiguE &t R
= g%igg 3%?%%$¥¥E%’é REE BEN A NE (5£5HE) HHE HEH &
309|= v & ILiLE 738 738 372 1110 34% 66%
33|=hO0F YUY v 400 400 - -
316|l= hORVEY 0 0 0 - -
317|= kXS 0 0 0 - -
318|=HifbirE 0 0 6300 6300 100% 0%
320/ =)o /=) 0 0 0 0 0 0% 100%
21|+ LMEEY 46 46 0 46 0% 100%
322[57 — [N, N—EZ (2=7EFNFF>TTF 4 4 4 - -

V) 71 -2 — (2-70%—-4, 6-Y
EB||:|\7:4»7‘/) -4’ —XAMNFITEMNT
325|ER (8=F/1) /5 N) 88 (Bl&+F2 VX 735 735 735 - -
IS EHEH)
328|E R (N, N /X%)I//a'-j'b)lz/\~ ViEg) # 1 1 1 - -
g (Bl&Y
329|E 2 (N, N /x%)w%wg)w‘s VEg) N 605 605 605 - -
, NN —IFLYVER (FAHAIMNEAINFAE
$h) (BIBRY A—1X—Fh)
30[ER (1 —XFI—1—=TzZJLTFI) =R 2 2 2 - -
XK
331|S, S—EX (1 —xF)7FAEN) =0—IF 156 156 156 - -
I=FKRRAFEOAVFFT7—b (BIEHXHHKR)
IN[MERV T DEEEEY 26 26 1666 1691 98Y% 2%
3Bl kST Y 1 1 96 97 99% 1%
336l kOF />~ 2 2 0 2 0% 100%
3374 —F=)L—1—>ranFty 0 0 - -
340l =)L 0 0 - -
M5y 0 0 - -
<D 0 0 0 0 0% 100%
33lkmAFa—IL (BE&AFTa—I) 0 0 - -
46l2—oz=)7xz /=) 84 84 84 - -
HEHREE : SM03EE




OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHEIR (WRFE - IFNREE - RE - BEEK) HOKF (K2R)

£3-2 #ERFRT
(13 / 17:—)

HRYE BEH & (kg/5E; 9" 144y V48 Idmg-TEQ/ ) =45 d
BHAHEHE (#EHE)
18 ML RiguE &t R
; EREE | MM | e | mwe | aw | W e
3497/ — L 43 43 920 963 96% 4%
3/OI3—T T/ FIRYINL=3—- (2, 2—-2/0O 103 61 164 0 164 0% 100%
AE=L) —2, 2=IXFNoATONRYA
IWRFIS—K BIBRILANYY)
3511, 3—THT TV 173 292 14408 14873 414 15287 3% 97%
34| 7 HIIWEES — /LI —TFI 9 416 425 50 475 11% 89%
BS[T7HINBEER (2 —TFILAFI) 98 98 0 98 0% 100%
36| TYIEE /LI —TFIL=~R2UI) 3 3 3 - -
B72—9—SvY—TFIA4I /-3 -V 7OF 497 18 515 515 - -
I=5—-—7zxz=Z)LFhSERA-4H-1, 3,
5;%7979y—4—#y(%%7fu719
v
BEIN—9—> v )—TFIL—N — (4—TFIAN 18 18 18 - -
YY) =3, B=UXFIRYVERSFIR
(ME&TT7x/IR)
360(N— [1— (N=/ LTI =TFIAINEASI 1110 1110 1110 - -
) —TH=2=—RYYVAIFIYJ] HILINZY
X FIL (BN II)
61| 7FI=(R) —2—[4— (4—>TF7/)—2— 567 567 567 - -
A0/ %Y) 7x/%Y] JOoELr+—
N (Blg/amy TTFIL)
362(1 —9—>v)—TFI—-3— (2, 6=V 50 50 50 - -
JOEIN—4—-Dx /)% 7)) FAERE (
LT I7zFHOY)
363|5—9—v ¥ Y—TFI—-3— (2, 4—-2/0O 552 552 552 - -
A-5—4VY7OR*>Y7z=)l) —1, 3, 4
—FFYIFY—)L—2 (3H) —F> (Bl&+
FHITVIV)
3644 —v v ) =TFI=4— ({[ (1, 3—IA 14 4 18 18 - -
FI—B—TT/FS—4—ESVYI) XF)
TVl TI)AFVY XAFII) RyVT—K (B
Z7zoEOXT X—N)
66|y —v v —TFI=RORILFFYR 400 400 - -
368[4 -y —>v)—TFIT/—) 0 0 0 0 0% 100%

BRHFE : SH03FE



OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHEIR (WRFE - IFNREE - RE - BEEK) HOKF (K2R)

£3-2 #ERFRT

(14 / 17IR—=Y)

HRYE BEH & (kg/5E; 9" 144y V48 Idmg-TEQ/ ) =45 d
BHAHEHE (#EHE)
18 ML RiguE &t R
= PREEE | RIRAEE R BRIk NG e = =
369[2— (4—=49—2+v)U—TFLITT/FY) V9 120 120 120 - -
AnFY=2-7AOEZ)L=2)L7 1 v b (Bl
27080y bRIEBPPS)
370|12 — 49— v ) —TFI—-56— (4—49—> v 63 63 63 - -
—TFIRVINFA) —4—-s0A-3 (2H
) —EVIY /Y (RIBREYINY)
32IN— (=% )—=TFI) —2—RVIFFY 5 5 5 - -
— L2 TV IR
37413 2 b KFER UV ZDKBHEE 4119 4119 14728 18846 78% 22%
3I6IN—T hFoxFJ—2—-v00—-2" , 6 — 1091 1091 1091 - -
SIFILTEINTZUR BIETESIO-))
378|N, N’ —=7OELYER (VFAHINIVER 490 490 490 - -
) CHINOEAY RIETOEXT)
379|2—7pEYy—1—F—)L 16 16 - -
B1|7OoES /7O XYV 83 70 371 524 524 - -
383|5—JOE—3—tHVIY—TFIL—6—XF 368 368 368 - -
V=1, 2, 3, 4—Fh>EROEYIYY -
2, 4—IFv (RL7axi)
3841 —JoEIO/NY 1864 1864 2600 4464 58% 42%
3B6|TOEXY Y (BILBREXFIL) 5431 5431 5431 - -
BINEHFUILNY X FIIFVE=ZY L= K 63 171 309 543 5 548 1% 99%
IAFHAFLY=UAYS T R—N 0 0 0 - -
392| /=) —~FH 22290 2743 234 52870 78136 79217 157353 50% 50%
394|R Y ) ) LAROZDILEY 2 2 2 - -
395| LA £V ZIHREEDKAME 2 2 0 2 0% 100%
B[R UII=20Y R (BIBIEBEXRVTVIL) 0 0 0 - -
3VINVZIFITE R 0 102 4370 4472 4472 - -
40| 3156 4077 238 68779 76250 12079 88330 14% 86%
40111, 2, 4—~"VEYRNYAHILKRVEET, 2 - 0 0 0 - -
K
402(2 — (2 =RUYFFTYVILAFY) = N—XF 147 147 147 - -
WNT7ERT7ZYR (B&X7FE2Y )

BRHFE : SH03FE




OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHEIR (WRFE - IFNREE - RE - BEEK) HOKF (K2R)

£3-2 #ERFRT

(15 / 17R—=Y)

HRYE HEH & (kg/ 5 ; 47 1149V $RIdmg-TEQ/ ) R L
A= (EEHE)

18 ML RiguE &t R
= g%igg 3%?%%$¥¥E%’é REE BEN A NE (%&HE) HHE HEH &
403\ T ) v 0 0 0 - -
405(1F 5 R1LEW 4336 45 42 4423 29898 34321 87% 13%
406|R ) Bk =)L (BI&£PCB) 70 70 - -
47|RY) (AFSTFLY) =7ILFILI—FTI (7 4839 50495 203055 258389 720 259109 0% 100%

WEIIEDOREBN12H515FZTODEDORY
TDEEMICR D, )
408 j:)li (AFYTFLY) =9 FNTzZ)LI— 53 3671 42 3767 3767 - -
T
409|RY) (AFYTFL V) =RFTUII—FIFHE 5853 13284 44696 63832 63832 - -
IRTIFRN) DL
410?EU (AFxvTFLY) =/ZVT7zZII—F 652 2170 113 2935 2935 - -
MBI LTIVTE R 11224 752 359 52004 64339 1545 65884 2% 98%
AR VAV RV ZDEEY 199 199 4979 5178 96% 4%
43[R T & ILER 1 1 6 7 80% 20%
M4|EKT LA VER 0 0 14 14 100% 0%
45({x 557 LB 25 25 0 25 0% 100%
NE(XZ 7 VIEE2 —TFIAFIIL 1 1 0 1 0% 100%
ANB(XH L YIEE2 — (SAFILTI)) TFI 0 0 1 1 99% 1%
49| A 8 JJIVBE /I —TFI 0 0 - -
420({X 5 Z Y ILEE X FIL 300 90 0 390 339 729 47% 53%
422 (Zz) —=2" —XFWT7EbITZ/ V=4, 6— 1501 1501 29 1530 2% 98Y%
UAXAFI—2—-FBYIVZIERSYY (BI&D
TYLYVY)
A3 XA FIVT IV 0 0 140 140 100% 0%
AAFI=AYFAITFr—b 820 820 820 - -
A27TIN=AFIAINIVEET —FT7FIL (BlEAHIL 330 139 469 469 - -
NYIIXIENAC)
428|N—=AFIAHINIVEE2 -t hV Y ) —-TFIL 188 14 202 202 - -
J2x=) (BIZ&7x/)THINTIXIEIBPMC)
HEHREE : SM03EE




OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHEIR (WRFE - IFNREE - RE - BEEK) HOKF (K2R)

R3—2 ZEEFER
(16 / 17_—=%0)

HRME B 8 (kg/ 5 ;87 1439 /4R13mg-TEQ/ ) Lt

[ A HE & (HERHE)

BB
ME L % &5t
REE | ANEREEE | gp Bk Wt (i)

B
Ny
{BoEE

&
HrH

SEH
EE
fBn~=

|

49|XFN=3-/00-5— (4, 6-YXIxY 11 11 11 - -
L2 PYI TS ALNEANLRILT FEAIN
) =1 —XFIESY—IL—4—AILKRFYS—
M (Blg/NOZJ)L7AOYXF))

43

—_

AFI=(E) —2— {(2—[6— (2=>7/ 437 437 437 - -
Jx/)FY) BYIVY—4— 4»1#/13i
7

ZI} =3 = AFNFITIYS—F (BIET

YZ2hOkEY)
4323 =X FJ—1, 5= (
1, 3, 5—RYF7HRY
MET7I RS X)

4—FD))) — 80 80 80 - -
1

2,
5 - , 4—vxTv (

433IN= X FINSFAAINI VEE (BIZH—/NA) 100 100 100 - -

434X FIL=N" | N =X FIL=N— [ (*FI 7 7 7 - -
HIVREAI)N) AFV] =1 =FAFFHLASI
T—b (BlaAFYII)

43B|XAFI=2— (4, 6 =YXk
JINAFY) —6—-[1— (
I?»]&VVT—F(%%E
)|

Fo—2-
AbhFoq
RSN A

\‘r///rg
YN =
N a7

36| 7N T 7 —AFINAF LV 0 0 - -

43X FIFT7HL YV 3 469 0 473 472 944 50% 50%

44011 — X FI)I—1—TzzZ )T F)b=k FAR)LF 0 0 0 - -
FR

4412 — (1 =XxF)7AEINL) —4, 6—T=k0O 0 0 - -
J2x/)—I)b

443[S — A FIL=N—= (XA FIAINEA )T FY) 270 270 270 - -
FAT7EMM IS —b BIBRAYII)

AL F = (E) =X bFo143/— (2— {[( 18 18 18 - -
{(E) =1—=[3—= (bYZiAOXFI) 7
=] I—T')?‘/} TX/)) AFxT] AFIL}
élf»)7t9— B rY7ox>2 bhO
>

A5\ AF = (E) =X FFPA432/ [2— (LI 244 244 244 - -
—MNUNNAFFIAFIV) 72zZ)] TEIY—F (
BMEILYELALTFI)

BRHFE : SH03FE



OREHAHIHEDHEHED N RILFMERIRFHHER
3. BHEIR (WRFE - IFNREE - RE - BEEK) HOKF (K2R)

£3-2 #ERFRT

7 / 17IR=Y)

HRYE HEH & (kg/ 5 ; 47 1149V $RIdmg-TEQ/ ) R L
A= (EEHE)
ve B B a5t A B
= g%igg 3%?%%$¥¥E%’é REE BEN A NE (%&HE) HHE HEH &
UIAFLYER (4, 1—voO~AFYLY) =9 1 1 1 - -
AV T7xR—b
448 xfl/*it:“z (4, 1—7z=LY) =249y 28 28 0 28 0% 100%
7 R—
450|N— (6 —A FFT—2—-FYIJ) —N—XF 132 132 132 - -
WFAHIVNI VBEO—-3 -4 =% ) —=TFI
ZJxz=)L (BIBEY TFHILT)
45212 = XA T IRV F T =) 2 2 2 - -
453|EY) TV RUOZDILEY 105 105 0 105 0% 100%
454[2 — (BIVKRY) JOFF) ROVFTY=) 0 0 0 - -
455|E LR » 58 58 11 69 16% 84%
456 AETILI =9 L 55 55 55 - -
7Y AT AFIL=2, 2—IsO00E=)L (Bl% 669 71 740 740 - -
T OINKRAXIEDDV P)
460[Y AER N Y UL 0 0 41 41 99% 1%
61{YAERKNY 7= 3 3 0 3 0% 100%
462(Y ABE N Y =/ ILRIL—TFIL 0 0 0 - -
&5t 341426 540820 513471 785476 2181193 1236764 3417957 36% 64%
HEHREE : SM03EE




